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	Standard
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	Mastered?

	7.NS.A.2a-multiplication of integers
	
________/1
	
1/1

	
	

	7.NS.A.2b- division of integers
	___________/3
	3/3
	
	




Solve the following using x= -2, y= -3, and z =6

1. Xy (7.NS.A.2a 1 pt)	Comment by Jessica Cutler: D
a. -2
b. -3
c. -6
d. 6
2. Z ÷Y (7.NS.A.2b 1 pt)	Comment by Jessica Cutler: A
a. -2
b. -3
c. -6
d. 6
3. Kennedy said the quotient for -24 ÷3 is positive. Is she correct? Why or why not? What is the quotient? (7.NS.A.2b 1 pt)	Comment by Jessica Cutler: She is wrong. It will be negative because negative divided by positive is negative. -8.
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